(é; Bl ACK Bo *“ 110 O O O O

NETWORK SERVICES

To attach the mounting plate

The following instructions will help you
install your DTX5000-MMK Monitor
Mount Kit.

Should you require further assistance,

please contact Black Bozx.

MONITOR MOUNT KIT
The monitor mount kit includes:
* One mounting plate
* Four #8 wood screws
* Four M4x12 pan head Phillips
screws (black)
* Two rubber spacers
* One Quick Install Guide

OPTION 1: FLAT PANEL MONITOR MOUNT
o Attaching the mounting plate to the
flat panel monitor

NOTE: Refer to the flat panel monitor
owner’s manual to determine how to
properly access the VESA mounting holes.
Due to varying depth concerns in flat panel
monitors, it may be necessary to provide

your own screws for proper installation.

Place the mounting plate with studs offset
toward the top and affix rubber spacers, if
necessary. Using the four M4x12 screws,
attach the mounting plate to the flat panel.

9 Attaching the Receiver

Align the holes on the bottom of the Receiver
with the studs on the mounting plate and gently

push the Receiver onto the plate.

CAUTION: Do not apply pressure to the viewing

surface of your flat panel screen.

OPTION 2: WALL MOUNT
o Attaching the mounting plate
Attach the mounting plate flush to the selected wall

surface with four #8 wood screws.

NOTE: Depending on the type of wall surface, a
different type of anchor may be needed to secure

the mounting plate.

\ Receiver

9 Attaching the Receiver

Align the holes on the bottom of the Receiver with
the studs on the mounting plate and push the
Receiver onto the plate. Push downward to secure

the Receiver into the plate.

CAUTION: For safe installation, mount this plate
to a type of material that can easily sustain the
weight of the Receiver and attached cables. Use
caution in determining which screws are most
suitable to use, taking into account the type of

material to which the plate will be mounted.

Customer
Support
Information

FREE tech support, 24 hours a day, 7 days a week: Call 724-746-5500 or fax 724-746-0746
Mailing address: Black Box Corporation, 1000 Park Dr., Lawrence, PA 15055-1018
World-Wide Web: www.blackbox.com ¢ E-mail: info@blackbox.com
© Copyright 2005. Black Box Corporation. All rights reserved.



